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Internal Examination

Sub: Mathematics(General)
Course : MATH-G-DSE-T-2A (Linear Programming)
Full marks : 10

Answer all the questions: 2xXx5=10

1. Solve the L.P.P. by graphical method

Minimize, z = 4x; — 3x;
subject to 2x; — x, = 4,
4X1 + BXZ < 28, X1,Xp = 0.

2. Solve the following game by using maximin minimax principle:

Player B
By B, Bs
A6 3 -3
PlayerA A;|-2 1 2]
As;l5 4 6

# Send to this email id: mathematics@nvc.ac.in

Sub: Mathematics(General)
Course : MATH-G-SEC-T-4A (Probability and Statistics)
Full marks : 10

Answer this question: 1x10 =10

1. State and prove Bayes’ theorem.
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